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Question 3 
 
 
5 points (1 + 3 + 1) 

 
(a) 1 point: 

• One point is earned for stating that Loriland is importing 12 million pounds. 
 
(b) 3 points: 

• One point is earned for identifying the new level of domestic production as 6 million pounds. 
• One point is earned for calculating the domestic consumer surplus as $25 million and showing 

the work: ½ [($9 - $4) × 10] = $25 
• One point is earned for calculating the revenue from the tariff as $8 million and showing the 

work: ($4 - $2) (10 - 6) = $8. 
 
(c) 1 point: 

• One point is earned for identifying the per-unit tariff that maximizes the sum of consumer and 
producer surplus as $0.  
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Question 3 
 
Overview 
 
This question tested for proficiency with a supply-and-demand model involving trade. Students were 
asked to identify the quantity of imports without a tariff and domestic production with a tariff. They were 
also asked to calculate consumer surplus and tariff revenue, and to indicate that the sum of consumer and 
producer surplus is maximized when the tariff is zero. 
 
Sample: 3A 
Score: 5 
 
The student answers all parts of the question correctly and so earned all 5 points. 
 
Sample: 3B 
Score: 3 
 
The student lost 1 point in part (b)(ii) for the incorrect calculation of domestic consumer surplus, and  
1 point in part (c) for stating an incorrect per-unit tariff. 
 
Sample: 3C 
Score: 1 
 
The student earned 1 point in part (b)(i) for correctly identifying of the level of domestic production. 
 
 
 

 
 
 


